Black Hole

Nejc Kuhar 2012

.=72 . iz ﬁ;?‘ihg i hete e

il v u

@
(@]
=
(@)
v
-
~®
M
RN
|
N
~®
M
~@
|V
e
~

3
<
3

o = 140

g
L
|
1
L
|

\f
AN |
|
L)1
|
N
| @
|
A
\_1 |
I\
|
A
91
|
RN
MR

<%

21 _h-ﬁ
R — 55.;’—_”“/_5 = = r - 2
Jf

28 L e e e e e e sooo000ee ™

—— L o

_'_q_ T 1T T T T T 1 Z - \\' -
gt F=— =4 iﬁ;”—
3B m N 2 ba _ba 5

v%/
N
|
?a
| |
e
.
2
e

VI =
e
N
3
il

Q_
/
A"
[ Y
[ Y
A
NIV ©

~@)

M

~@

1

|
Ij~/

~@)

4

e

~®

{4

g ®
|
%
|
==
oo




Black Hole

2
51 2
o - | IH —_ IIj P— - o | | =
6 e e o1 6 [ [
(@ ) ! (@)
38 pizz arco — hﬁ “
)5 r— \ = 2 e > .
Y AR I > L | [ 1
> He ¢ 4@
J J
o Poco meno mosso J =120 o
—%): h-._. N be o o hu'. h-._. N N I_Z [y) =~ /‘_H“ o)
,. g. g. g gl/ Z - - _ ; é_
mf S sfs P
” he he -
= a N 1 TP N 4
@-_g - 1 o/uH' ] .14.1/ o i ? =. - b._g»ﬁq—q}.i g g ﬂQ}T?:t
mf
S Jf mp<<f |
- rit.
" i " g > > > >
@::Z—Em.,; S i:ce.w. 50 - 2 - he Y o 0% o 54
T 1 & & T 1 & P S Y < S < N E
a tempo L rrrs=s=
Jf
arco
5 © 9 9 @ ® 0 ¢ 9 —
ﬁt_z z z i . —— —
e e FETST e e FETS s
> > =
&
20 Lento J=4O -
z % % = %
— mp
97 Div. a2 _
2 L
)y — = = e e 1 ool S
/ ! = | D |
m | " r r m [
103 H Tutti
)y 3 bo - e — 3 - 3
s : “- “- %
D O
B 'qf pa])subito
p



Black Hole

3
]08. —T [>) ,He \ % 2
Dhte———1 == S s %
» p<,,m ’mf
15 h-lhf#
94 3 _TAtde e
| | //
mp
o =80
110 accel.# # ﬂ hp_h
/:‘/’ 1 "y 'h.lﬁ —7 g L i g - g—
mf TR i
121 J:152
# #e
S S
= —— e —— % - % = & =%
—p f
137 Div. a4 G.P
b4 3 & —
v/
Tutti
- 4 hz\ . o h" ) hZ&Z‘% = S = 2
D & 1™ 3 0 : : |
151
o jf'a\ = mf subito
S —
158 - ]
2 : ' 44 ® ¢ o | ® o« o« | ] £
=) te VL fe e the o e 5 The o he 15
= S




Black Hole

4
163
o \ L N il ~ o)
y, oy | - -
Fte % 4 g
p ﬂk
169
97 9 ===t e
S 8 ¢ * he e re P
> >
mf<we  sfs sfs
175
) ~ 9
7 & = S - L - | i
(® A~ 7 DO
T= T= =
181 G.P.
4
#q e & ) ] Py 92 - Z_
7 Hhe—e g : ?l (e

190 > arco
L, J /\J |, | |
° VS | | ° 2] d
: ' e v 7 " ' o i 4
e R e
__________________________ arco—"
104 Tutti
s D) 7 | he a) h" 19,
) 3 jo. 1P Ere— =15
' W M= T=
e R —
Div. gliss. ad lib. (written only on wich string it should be played and dynamic)
200
L sul A
i ) 3]
10D J = i Z
nf
21 sul D
Y 3 ) D) 3 ] D)
/ 1 1 1 1
mp
molto rit.
sul G, gliss. rapido,
from highest possible note on sul G
>
219 sul C ]

1

o

NS

o

‘i@u:v
‘éu:

M

>
\
\

M

of



Poco meno mosso J = 140

Black Hole
5
>
226 .
l_3_| A L A /\ ﬂ'q'
3 3 L rad® bobeifhe g "0 s
p4 . | . L / =1 1 g|. | ! ’ — [ 4 }
- [ —_——~———— - - - H Q
— >
J mp J
Piu mosso J =180
Div. a2 Tutti
232 utu
2
—)5H | —— = n— : > IE? ﬁs. -y %
—— . r ] I : Q vV H: v l’ == — * A * é 1
239 he fe fe fe
T -1 ] T I_ T 1 T - ]
13 | fel e (2 | & fo | 3 | e ST
I 1 ! Z | 1 I 1 Z I 1 !
.ﬂ, — — i
. > > > > > > ,
o gV I FCP2N
ettt e v e+ }§i8
4 Yy Yy 4 4 4
Every cellist must play different one of the 6 semitones
fromD to G
245 pizz.
D - : - |
L ¢ |
g4

\L.i_:‘



